B a| g |19 MM 80, TETFAKRE 81, MR EMER
% |IEfr AOFASY  #|JEAL %[ JIF{L %
=3 N il 2 16.99 4 59.4 6 91.3
BE # - - -
18 # - - N
B £ & W1 # - - -
BE ¥ & - - -
= = | 23 753 | 13 449 | 14 849
S = | 14 962 | 22 378 | 21 79.2
3] 3| il 4 13.70 9 498 5 923
+ & Wl 11 994 | 27 31.3 7 90.3
A 4 il 6 13.06 | 24 374| 22 775
& ES il 20 8.14 8 499 3 932
+ & F Kk | 12 9.81 3 59.6 1 96.5
B+ @ 13 9.79 11 46.5 19 79.6
BH & - - -
B #E * & #F - - -
ES 3] il 7 12.41 5 590 | 11 85.6
B 7 [ HEr - - -
B & 3 =% BT - - -
BE T @ - - -
B®& ‘& Hr - - -
BE NI & - - -
& ES il 10 11.41 26 34.4 18 81.8
I8 £ 4% 1L EH BT - - -
A& 4 @1 - - -
B & - - -
®" # Br| 22 7.82 6 57.2 10 85.8
= : F  ET| 33 452 | 29 28.1 31 54.3
2] % BT| 29 6.25| 18 402 29 67.2
= M BT| 32 472 | 23 37.7 4 93.1
4 i | 381 491 20 389 | 27 70.0
5 B # 5 13.32 7 550 | 33 432
= 7 | 30 5.51 10 473| 15 84.3
N ] BT 15 939| 25 352 12 85.3
X 2 Br| 25 735| 28 29.4 19 79.6
+ & HT 9 11.54 16 419 23 76.2
X J w17 920 31 24.2 34 414
R ) T 8 11.61 17 404 9 86.5
BA& N # - - N
B4 % E - - -
BE 4 # - - -
= = N Er| 34 4371 30 245| 30 66.7
Bt )1l HET - - -
BE NI & - - -
BiZ ' # - - -
B & B[ 19 8.22 19 390 | 26 70.9
Bt k& BT - - -
B X &% R # - - -
3 )i Br| 16 924 32 24.1 24 739
21 0 BT| 28 652| 15 438 8 86.9
= = BT 3 1547 | 34 34| 32 48.8
5] = | 18 853 | 12 459 | 16 83.6
=3 34 Br| 21 8.10 2 59.9 13 85.1
B X Z# % & - - -
BE W # - - -
m 5 + E| 24 736 | 20 389 | 25 71.9
IBZE N HE - - -
B X IE @ - - -
B+ # # - - -
X A Br| 27 6.60 | 33 180 17 83.3
= ;3 # 1 17.56 1 645| 28 69.4
2 i BT| 26 7.16 14 442 2 9338
B B HE - - -
BX #» H - - -
= N [} 13.20 43.0 822
3 | FR254 TERk244F4 H 1 H BAE k2444 H 1 H BAE
& e stk AR OO B AR AR DS B AR T
H A | S [ URE AR BTy
s = VL2543 A 31 A BUTE(E AR S

R 1 %A

—136—

Xt

”




o

X

B

moH % ; 82. HFMERK 83. BB MM 84. RIBHHILEHER
% |IEfr sy a|lEAL AOFASRY @A AOFASEY A
=3 N | 34 13 1 5.40 1 5.95
BE % - - -
18 # - N
B £ & W1 # - - -
BE ¥ & - - -
= = | 32 14| 22 226 20 283
%= = | 15 18 6 408 7 4.80
3] 3| | 26 1.7 2 5.10 2 5.65
+ & w11 1.9 9 3.92 8 4.79
A 4 | 21 18| 12 362| 13 420
= £ | 22 17| 14 345| 14 394
+ & F Kk | 33 14| 24 219 23 2.50
g B+ W 12 19 15 3.15 18 351
BH & - - -
B #E * & #F - - -
ES 3] | 18 18 3 454 3 5.42
B 7 [ HEr - - -
B & 3 =% BT - - -
A& T Hr - - -
B®& ‘& Hr - - -
BE NI & - - -
& ES | 27 1.7 11 3.69 12 427
I8 £ 4% 1L EH BT - - -
A& 4 @1 - - -
B & - - -
B’ # BTl 30 15 16 2.99 19 2.99
= : F HET| 31 14| 20 279 21 2.79
2] % BT| 20 18] 10 376 | 15 3.76
= iz} Br| 24 1.7 7 400| 11 433
4 i # 2 23| 32 070 | 32 0.70
5 B # 1 26| 25 202 27 2.02
= 7 | 14 1.9 8 4.00 5 5.00
N ] BT| 10 20| 28 154 29 1.80
X 2 Br| 25 1.7 13 3.58 10 4.64
+ & T 7 20| 21 278 22 2.78
X ) # 4 22| 23 225| 25 225
R ) BT 16 1.8 4 4.27 4 5.01
BA& N # - - N
B4 % E - - -
BE 4 # - - -
= = J #Er| 17 18| 34 046 | 34 0.46
Bt )1l HET - - -
BE NI & - - -
BiZ ' # - - -
o+ & HT| 28 1.6 18 292 9 4.69
Bt k& BT - - -
B X &% R # - - -
3 )i Br| 13 1.9 29 1.50 30 157
21 N BT| 19 18| 31 125 26 219
= I BT 8 20| 26 184 | 24 2.37
B =) # 6 2.1 5 412 6 484
=3 34 g 5 2.1 27 168 | 28 1.99
B X Z# % & - - -
BE W # - - -
it B+ H 9 20 17 2.96 17 3.69
IBZE N HE - - -
AKX IE H - - -
B+ # # - - -
X A Br| 29 1.6 30 1.33 31 1.50
= R #f 3 . 33 0.58 33 0.58
2 i BT| 23 1.7 19 2.91 16 3.69
B B HE - - -
BX #» H - - -
= N [} 1.6 4.31 4.88
3 K| ERk254E3 A 31 H TR 244 Rk 244
& | BBk ZZi e Ldil=k
H o (e[ W ERATR PR
i |85 ER R AR AR

—137—




